


الواجبات
علم المعاني والبراغماتيك 

واجب الفصل الاول 1434/1435
الواجب الاول
 
The answer of Q 1 is
a - meaning and its development
The answer of Q 2 is
c - The referent of an expression is an abstraction in the mind of language users
The answer of Q 3 is
d - Based on neither meaning or range
الواجب كامل  في الصورة اسفل
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الواجب الثاني
"gentleman/chap"  1- 
b - each belongs to different styles.

2- " married/unmarried "
a - binary antonymy

3-  Example of homonymy
b - bank ( financial institution vs. the side of a river )
الواجب كامل  في الصورة اسفل
[image: http://www.e1500.com/vb/attachment.php?attachmentid=7535&d=1353784992]

الواجب الثالث
1- I promise to stop doing that.’ What is the type of the speech act in this utterance?
a. constative
b. explicit performative
c. implicit performative
d. neither constative nor performative

2- What is the speech act that is not always intended by the speaker?
a. locutionary act
b. illocutionary act
c. perlocutionary act 
d. commissive act

3- ‘Iswear to be there promptly.’ What is the type of illocution in this utterance?
a. direct directive illocution
b. indirect directive illocution
c. direct commissive illocution 
d. indirect commissive illocution

4- If a speaker is NOT being ‘truthful’ when engaged in a conversation, which Maxim of Grice is he violating?
a. The Maxim of Quantity
b. The Maxim of Quality 
c. The Maxim of Relation
d. The Maxim of Manner

Other H.W ……..……… ………………..
السلام عليكم

اسئلة الواجب المستوى السابق 12/05/2013م مع الحل لسى منزلتهم هبة الرحمن الله يسعدها

الواجب الاول علم المعاني والبراغماتيك

1. In 1894, in a paper entitled: “Reflected meanings: a point in semantics,” the term “Semantics” was used to refer to:
a. meaning and its development.
b. the science of meaning.
c. meaning in a particular context.
d. the manipulation of language.

2. Which of the following statements is NOT correct when we compare sense and reference?
a. Sense deals with relationships inside the language.
b. Reference deals with relationships between the language and the world.
c. The referent of an expression is an abstraction in the mind of language users.
d. Every meaningful expression has sense, but not necessarily reference.

3. In the collocation “blond hair”, the type of collocational restriction is:
a. based on meaning
b. based on range
c. based on reference
d. based on neither meaning nor range

الواجب الثاني علم المعاني والبراغماتيك

1. How do the synonyms “gentleman/chap” differ?
a. Each belongs to different dialects.
b. Each belongs to different styles.
c. Each has different emotive or evaluative meanings.
d. They are both collocationally restricted to different environments.

2. Choose the type of antonymy found in the pair “married/unmarried”.
a. binary antonymy
b. converses
c. relational opposites
d. gradable antonymy

3. Which of the following is an example of homonymy?
a. earth (our planet vs. soil)
b. bank (financial institution vs. the side of a river)
c. tail (of a coat vs. of an animal)
d. fork (in a road vs. instrument for eating)


الواجب الثالث علم المعاني والبراغماتيك

1. ‘I promise to stop doing that.’ What is the type of the speech act in this utterance?
a. constative
b. explicit performative
c. implicit performative
d. neither constative nor performative

2. What is the speech act that is not always intended by the speaker?
a. locutionary act
b. illocutionary act
c. perlocutionary act
d. commissive act

3. ‘I swear to be there promptly.’ What is the type of illocution in this utterance?
a. direct directive illocution
b. indirect directive illocution
c. direct commissive illocution
d. indirect commissive illocution

4. If a speaker is NOT being ‘truthful’ when engaged in a conversation, which Maxim of Grice is he violating?
a. The Maxim of Quantity
b. The Maxim of Quality
c. The Maxim of Relation
d. The Maxim of Manner
Other H.W ……..……… ………………..

حل واجبات بتاريخ 08/04/2012
Denotation is the --------- of the meaning of a word or a phrase to the entities which it refers.
a-quality
b-equation
c-extension
d- extension
2-Begin and Start provide a good example of …….
a-antonyms
b-homophony
c-synonymy
d- polysemy
3-When we have two sentences, one is true then another sentence must be false we call this case as …….
A-entailment
b-synonymy
c-connotation
d-contradiction
4-Fahd went from Hasa to Dammam. Which type of the manifestations of the verb Go?
A-possessional
b- positional
c-identificational
d-extension
Other H.W ……..……… ………………..
[image: ]الواجب الأول 
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1. ‘I promise to stop doing that.’ What is the type of the speech act in this utterance?
a. constative 
b. explicit performative 
c. implicit performative 
d. neither constative nor performative

2. What is the speech act that is not always intended by the speaker? 
a. locutionary act 
b. illocutionary act 
c. perlocutionary act 
d. commissive act

3. ‘I swear to be there promptly.’ What is the type of illocution in this utterance? 
a. direct directive illocution 
b. indirect directive illocution 
c. direct commissive illocution 
d. indirect commissive illocution

4. If a speaker is NOT being ‘truthful’ when engaged in a conversation, which Maxim of Grice is he violating?
a. The Maxim of Quantity 
b. The Maxim of Quality 
c. The Maxim of Relation 
d. The Maxim of Manner
[image: http://im39.gulfup.com/Foski.jpg]Other H.W ……..……… ………………..
<><><><><>  the end<><><><><>



أسئلة المراجعة – علم المعاني والبراجماتيك

1. Classify the utterance: ‘I order you to go.’
a. constative 
b. explicit performative 
c. implicit performative 
d. neither constative nor performative


2. Which of the following is true about hyponymy?
a. The upper term is called the hyponym.
b. The lower term is called the superordinate. 
c. A hyponym can never be a superordinate of another term.
d. There is not always a superordinate term for hyponyms in a language


3. Through which componential analysis can we rule out “*pregnant man”?
a. man is (+male) and pregnant is (±male)
b. man is (+male) and pregnant is (-male)
c. man is (-male) and pregnant is (-male)
d. man is (-male) and pregnant is (±male
تجميـع و عمل : كومـي 

<><><><>  other Questions<><><><>

أسئلة المراجعة – علم المعاني والبراجماتيك
 الفصل الأول /1433/1434
منقول عن "انفجار" 05-12-2013 
اسئلة المراجعة اللي من الجامعه..محلوله كامله 
لاخينا الفاضل / ابوبكر
ارشيف المستوى السابع
	

(20 سؤال )


1. Antonymy is the relationship between two words that have:
a. the same reference.
b. opposite references.
c. the same sense.
d. opposite senses.

2. The meaning of a word is included in another word, in the case of:
a. hyponymy
b. polysemy
c. homography
d. homophony
3. Homonyms spelled the same but pronounced differently are a case of:
a. hyponymy
b. polysemy
c. homography
d. homophony

4. Homonyms spelled differently but pronounced the same way are a case of:
a. hyponymy
b. polysemy
c. homography
d. homophony

5. The same word has several very closely related meanings, in the case of:
a. hyponymy
b. polysemy
c. homography
d. homophony

6. Which of the following is NO T true about hyponymy?
a. The upper term is called the hyponym and the lower term is the superordinate.
b. If a superordinate term has more than one hyponym, we call them co-hyponyms.
c. A hyponym can be a superordinate of another term included in its meaning.
d. There is not always a superordinate term for hyponyms in a language.

7. If X is a hyponym of Y and Y is a hyponym of X, then X and Y are
synonymous. This special case is called:
a. symmetrical hyponymy
b. symmetrical synonymy
c. symmetrical polysemy
d. symmetrical homonymy

8. Choose the cor rect components for the word “bull”:
a. (ovine), (female), (adult)
b. (human), (non-adult)
c. (bovine), (male), (adult)
d. (human), (adult)

9. Choose the correct components for the word “child”:
a. (ovine), (female), (adult)
b. (human), (non-adult)
c. (bovine), (male), (adult)
d. (human), (adult)

10. The components of the following pairs are not related to physical features:
a. “come/go” and “bring/take”
b. “tar” and “porridge”
c. “man/woman/child” and “ram/ewe/lamb”
d. “man/woman/child” and “bull /cow/calf”

11. Through which componential analysis can we rule out “*pregnant man”?
a. man is (+male) and pregnant is (±male)
b. man is (+male) and pregnant is (-male)
c. man is (-male) and pregnant is (-male)
d. man is (-male) and pregnant is (±male)

12. Componential analysis does not handle the following sense relation well:
a. synonymy
b. polysemy
c. homonymy
d. hyponymy

13. Why can’t we describe an animal as a lion and a rabbit at the same time?
a. Because “lion” and “rabbit” are not members of the same semantic field.
b. Because “lion” and “rabbit” are mixtures.
c. Because “lion” and “rabbit” are incompatible terms.
d. Because “lion” and “rabbit” are ordered terms.

14. What do we call words like “orange-red” and “red-green”?
a. ordered items
b. blurred items
c. semantic fields
d. mixtures

15. The numerals one, two, three, etc., are an example of:
a. ordered items
b. blurred items
c. collocation
d. mixtures

16. The collocational restriction on “The rhododendron passed away,” is
explained by:
a. meaning
b. range
c. both meaning and range
d. neither meaning nor range

17. The collocational restriction on “green cow” is explained by:
a. meaning
b. range
c. both meaning and range
d. neither meaning nor range

18. The collocational restriction on “blond door” is explained by:
a. meaning
b. range
c. both meaning and range
d. neither meaning nor range

19. Which of the following is true about collocation?
a. Collocation can be seen as part of the meaning of a word.
b. Collocation is an example of paradigmatic relations.
c. Collocation can always be predicted from the meaning of the associated words.
d. Collocation can never be predicted from the meaning of associated words.

20. Synonymy is the relationship between two words that have:
a. the same reference.
b. opposite references.
c. the same sense.
d. opposite senses.


<><><><>  other Questions<><><><>

Review Questions
http://www.e1500.com/vb المعتقل

اسئلة مراجعة منقول من المحاضرة 1 - 5
ارشيف المستوى السادس
جهود اخونا / المعتقل 
رابط الصفحة :
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= = = = = = (lecture 1)= = = = = = 

1- Technical term used to refer to the study of meaning.
a- Meaning
b- Semantics
c- Pragmatics

2- It covers a variety of aspects of language, and there is no general agreement about the nature of meaning.
a- Meaning
b- Semantics
c- Pragmatics

3- term used to refer to the study of meaning that a sentence has in a particular context in which it is uttered.
a- Meaning
b- Semantics
c- Pragmatics

4- One of the earliest uses of the term (Semantics ) was in ……..
a- 1894
b- 2011
c- 1994

5- In 1894, in a paper entitled: “Reflected meanings: a point in semantics.” the term "Semantics" was used to refer to:
a- Science of meaning
b- The meaning and its development
c- the manipulation of language

6- “Reflected meanings: a point in semantics.” Is the meaning and its development which is what we call it now …………………………….
a- Science of meaning
b- the manipulation of language
c- historical semantics

7- In 1900, a book called “Semantics: studies in the science of meaning” was published. The term Semantics was treated in this to……….
a- to the changes of meaning from a historical point of view.
b- the “science” of meaning
c- Reflected meanings: a point in semantics


8- In popular language, especially in newspapers, the word “semantics” is used to refer to ……………………….
a- the manipulation of language
b- the “science” of meaning
c- the historical semantics

9- the manipulation of language is used to ……………….. by choosing the right word.
a- demonstrate
b- clarify
c- mislead

10- The headline in The Guardian in 1971: “Semantic manoeuvres at the Pentagon”. In this article the term “mobile manoeuvre” was being used to mean………………..
a- Progress
b- retreat
c- Exercise

11- "I mean I will carry it for you" The word mean here applied to people in the sense of ……………
a- opposite
b- equivalent
c- intend

12- "I'm going to carry with you I mean, I want to help". The word mean here applied to sentences in the sense of ……………
a- opposite
b- equivalent
c- intend

13- what a speaker means when he uses a piece of language. It includes the secondary aspects of meaning, related to context. is called ……………………
a- Sentence Meaning
b- Utterance Meaning
c- Both a & b

14- what a sentence (or word) counts as the equivalent of in the language concerned is called ………………
a- Sentence Meaning
b- Utterance Meaning
c- Both a & b

15- “Nice day.” It Is ……to.“ This is a lovely day. if the speaker in good mood and the Weather is beautiful.
a- equivalent .
b- opposite
c- intend

16- “Nice day.” It Is ………to. “This is a lovely day.” if the speaker in bad mood and the Weather is terrible.
a- equivalent .
b- opposite
c- intend

17- the study of Semantics is …………………
a- independent of context.
b- independent of out context
c- None of all

18- There’s a car coming. This sentence out of context . that mean it is …………..
a- Semantics
b- Pragmatics
c- Both a & b

19- There’s a car coming. This sentence in specific context. that mean it is …………..
a- Semantics
b- Pragmatics
c- Both a & b

= = = = = = (lecture 2)= = = = = = 

20-It deals with the relationships inside the language.
a- Sense
b- Reference
c- None of all
21- It deals with the relationship between the language and the world.
a- Sense
b- Reference
c- None of all

22- a relationship between parts of a language (words and phrases) and things outside the language (in the world)
a- Sense
b- Reference
c- None of all

23- The relationship between “big” and “small” is ………………..
a- synonymy
b- Antonymy
c- Sameness

24- The relationship between “rich” and “wealthy” is………………….
a- synonymy
b- Antonymy
c- oppositeness

25- I have an account at the bank
We took the boat to the other bank of the river. - in BOTH sentences the word-form “bank” has.........
a- the same sense
b- a different sense
c- no sense

26- “Rupert took off his jacket
“Rupert took his jacket off.”
the sentences above , they have ……………..
a- the same sense
b- a different sense
c- no sense

27- “The chicken is ready to eat". the sentence has ……………..
a- One sense
b- Two different sense
c- no sense

28- By ……………..a speaker indicates which things and persons in the world are being talked about.
a- Sense
b- Reference
c- None of all

29- Which of the following statements is NOT correct when we compare sense and Reference?
a- sense deals with the relationships inside the language.
b- Reference deals with the relationship between the language and the world.
c- Every meaningful expression has sense and reference .

30- any expression used in an utterance to refer to something or someone is …..
a- A referring expression
b- A referent
c- Refer

31- the person or thing in the world speakers refer to by using a referring expression is ……………………
a- A referring expression
b- A referent
c- Refer

32- The relation between a referring expression and a referent is called……
a- A referring
b- Reference
c- A referent

33- Which of the following statements is NOT correct ?
a- The same referring expression can be used to refer to different referents.
b- Two different referring expressions can have the same referent.
c- Every meaningful expression has sense ,but not necessarily reference .
d- The referent of an expression is an abstraction in the mind of language users.

34- Which of the following statements is NOT correct ?
a- The referent of an expression is often a thing or person in the world; whereas the sense of an expression is not a thing at all.
b- The sense of an expression is an abstraction in the mind of a language user.
c- When a person understands fully what is said to him, it is reasonable to say that he grasps the sense of the expression he hears.
d- Every meaningful expression has sense, and every meaningful expression has reference.


35- The words “almost”, “if” and “probable” have …………………..
a- refer, but they do not sense to a thing in the world.
b- sense, but they do not refer to a thing in the world.
c- sense, and they do refer to a thing in the world

= = = = = = = (lecture 3) = = = = = =

36- The relationship that are those into which a linguistic unit enters through being contrasted or substitutable, in a particular environment, with other similar units are called …………………………..
a- Paradigmatic relations
b- Syntagmatic relations
c- Semantic Fields

37- The relationship that are those into which a linguistic unit enters by its co-occurrence with other units are called …………………………..
a- Paradigmatic relations
b- Syntagmatic relations
c- Semantic Fields

38- a group of words which are related in their meaning.
a- Paradigmatic relations
b- Syntagmatic relations
c- Semantic Fields

39- Paradigmatic relations are also called ……………….
a- vertical relation
b- horizontal relation
c- Inverse relation

40-Syntagmatic relations are also called ……………….
a- vertical relation
b- horizontal relation
c- Inverse relation

41- “Saturday”, “Sunday”, “Monday”.. etc are called
a- Paradigmatic relations
b- Syntagmatic relations
c- Semantic Fields

42- Saturday”, “Sunday”, “Monday”.. etc have ………………………
a- Paradigmatic relations
b- Syntagmatic relations
c- Semantic Fields

43- When we look at semantic fields we are concerned with ……………… between words.
a- Paradigmatic relations
b- Syntagmatic relations
c- Semantic Fields

44- Semantic fields can be useful to compare ……………..
a- a single language at two different time periods
b- two languages to see the way in which they divide up a particular field.
c- Both a & b

45- Of two things: impossible to coexist; not congruous because of differences.
a- Appropriate
b- Incompatible
c- Compatible

46- the days of the week , the months of the year, the numerals , Alphabetical numbering and measurement units are semantic fields have ………………….
a- sequential relations
b- natural order
c- both a & b

47- Semantic Fields is example of ………………………
a- Paradigmatic relations
b- Syntagmatic relations
c- None of all

48- the days of the week and the months of the year form sets of…………………….
a- unordered incompatible items
b- ordered incompatible items.
c- unordered compatible items.

49- Sunday comes immediately before Monday, and Monday before Tuesday.. etc. they have ………
a- sequential relations
b- natural order
c- both a & b

= = = = = = = = (lecture 4)= = = = = = = =

50-Collocation is example of ………………………
a- Paradigmatic relations
b- Syntagmatic relations
c- None of all

51- certain words tend to appear together are called ………………in syntagmatic .
a- Collocation
b- sequential relations
c- Semantic Fields
52- “bite teeth”, “bark dog”, “blond hair ”. these kind of words are called ………
a- Semantic Fields
b- Collocation
c- sequential relations

53- Certain words tend to appear together are called Collocation in syntagmatic and also MEAN ……………..
a- Each separately
b- Alone
c- keeping company

54- Which one of the following can be seen as part of the meaning of a word?
a- Collocation
b- Semantic Fields
c- sequential relations
55- Types of Collocational Restrictions are ……………………….
a- based on the meaning
b- based on range
c- based on neither meaning nor range.
d- All of the above
56- How many types of Collocational Restrictions ?
a- Two
b- Three
c- Four
57- In the Collocation “bite teeth” the type of Collocation Restriction is …………
a- based on range
b- based on the meaning
c- based on neither meaning nor range.

58- In the Collocation “blond hair ” the type of Collocation Restriction is …………
a- based on range
b- based on the meaning
c- based on neither meaning nor range.

59- In the Collocations “abnormal weather” and “exceptional weather” the type of Collocations Restrictions are ……………because they have almost same meaning .
a- based on range
b- based on the specific meanings in particular collocations
c- based on neither meaning nor range.

60-In the Collocations “an exceptional child” and “an abnormal child” the type of Collocations Restrictions are …………because they have Different meaning.
a- based on range
b- based on the specific meanings in particular collocations
c- based on neither meaning nor range.

61- In the Collocation “The rhododendron died,” the type of Collocation Restriction is …………
a- based on range
b- based on the meaning
c- based on neither meaning nor range

62- which of the following is correct to say …………………………
a- “The rhododendron did NOT pass away.”
b- “The rhododendron died,”
c- “The rhododendron passed away.”

63- We should NOT use ………………….. with the names of any shrubs.
a- died
b- pass away
c- die

64- In the Collocations “dog bark ”, “cat mew ”, “sheep bleat ”, “horse neigh ”, “blond hair ” the types of Collocations Restrictions is …………
a- based on range
b- based on the meaning
c- based on neither meaning nor range.
65- Which word can we use with bland ….. / bland is kind of color .
a- hair
b- door
c- dress
66- Use the right collocation / dog……
a- bark
b- mew
c- neigh
67- Use the right collocation / sheep ……
a- bark
b- bleat
c- neigh
68- Use the right collocation / horse ……
a- bark
b- bleat
c- neigh

69- Which word can we use with flock of …………….
a- cows
b- whales
c- sheep

70-Which word can we use with herd of …………….
a- cows
b- whales
c- sheep

71- Which word can we use with school of …………….
a- cows
b- whales
c- sheep

72- Which word can we use with pride of …………….
a- cows
b- lions
c- sheep

= = = = = = (lecture 5)= = = = = = =

73- The relationship between two lexical units (words) that have the same sense.
a- synonymy
b- antonym
c- paradoxical

74- Words that have the same sense are called…………………..
a- synonymy
b- antonym
c- paradoxical

75- (buy/ purchase) this pair is …………..
a- synonymy
b- antonym
c- paradoxical

76- (hide/ conceal) this pair is …………..
a- synonymy
b- antonym
c- paradoxical

77- (wide/ broad) this pair is …………..
a- synonymy
b- antonym
c- paradoxical

78- (deep/ profound ) this pair is …………..
a- synonymy
b- antonym
c- paradoxical

79- What is the synonymous word for deep?
a- Profound
b- Broad
c- Conceal

80-What is the synonymous word for buy?
a- Profound
b- Broad
c- purchase

81- What is the synonymous word for wide?
a- Profound
b- Broad
c- purchase

82- What is the synonymous word for hide?
a- Profound
b- conceal
c- purchase

83- The term “fall” is used in the United States and in some western counties of Britain where others would use “autumn”
a- because to differ only in their emotive or evaluative meanings.
b- because of different dialects of the language.
c- because it used in different styles.

84- The difference between “politician” and “statesman”, “hide” and “conceal”, “liberty” and “freedom”, is ....
a- because of different in their emotive or evaluative meanings.
b- because of different dialects of the language.
c- because it used in different styles.

85- How do synonyms “fall/autumn” differ ?
a- Each belongs to different dialects
b- Each belongs to different styles
c- Each has different emotive or evaluative meanings.
d- they are both collocationally restricted to different environments

86- How do synonyms “gentleman /man /chap” differ ?
a- Each belongs to different dialects
b- Each belongs to different styles
c- Each has different emotive or evaluative meanings.
d- they are both collocationally restricted to different environments

87- How do synonyms “politician/statesman” differ ?
a- Each belongs to different dialects
b- Each belongs to different styles
c- Each has different emotive or evaluative meanings.
d- they are both collocationally restricted to different environments

88- How do synonyms “hide/conceal” differ ?
a- Each belongs to different dialects
b- Each belongs to different styles
c- Each has different emotive or evaluative meanings.
d- they are both collocationally restricted to different environments

89- How do synonyms “ liberty / freedom” differ ?
a- Each belongs to different dialects
b- Each belongs to different styles
c- Each has different emotive or evaluative meanings.
d- they are both collocationally restricted to different environments

90-How do synonyms “rancid / addled ” differ ?
a- Each belongs to different dialects
b- Each belongs to different styles
c- Each has different emotive or evaluative meanings.
d- they are both collocationally restricted to different environments

91- How do synonyms “mature/adult/ripe/perfect” differ ?
a- Each belongs to different dialects
b- Each belongs to different styles
c- Each has different emotive or evaluative meanings.
d- they are loose sense of synonymy because they are close in meaning, or that their meanings overlap

92- How do synonyms “govern/direct/control/determine” differ ?
a- Each belongs to different dialects
b- Each belongs to different styles
c- Each has different emotive or evaluative meanings.
d- they are loose sense of synonymy because they are close in meaning, or that their meanings overlap

93- what kind of synonymy that is used by the dictionary-maker?
a- synonymy a loose sense
b- synonyms belong to different dialects
c- synonyms belong to different styles

94- The relationship between two lexical units (words) that have the opposite sense.
a- synonymy
b- antonym
c- Confusable

95- Words that are opposite are called……………….
a- Antonyms
b- synonymy
c- Confusable

96- How many types of antonymy?
a- Two
b- Three
c- Four

97- lexical units which come in pairs and between them exhaust all the relevant possibilities.
a- binary antonymy (complementarity)
b- converses (relational opposites)
c- gradable antonyms

98- a word describes a relationship between two things (or people). At the same time, another word describes the same relationship when the two things (or people) are mentioned in the opposite order.
a- binary antonymy (complementarity)
b- converses (relational opposites)
c- gradable antonyms

99- Two words at opposite ends of a continuous scale of values.
a- binary antonymy (complementarity)
b- converses (relational opposites)
c- gradable antonyms

100- choose the type of antonymy found in the pair "dead/ alive "?
a- binary antonymy
b- converses antonymy
c- gradable antonyms

101- choose the type of antonymy found in the pair " married/ unmarried "?
a- binary antonymy
b- converses antonymy
c- gradable antonyms

102- choose the type of antonymy found in the pair " “parent” and “child” "?
a- binary antonymy
b- converses antonymy
c- gradable antonyms

103- choose the type of antonymy found in the pair " “parent” and “child” "?
a- binary antonymy
b- converses antonymy
c- gradable antonyms

104- John bought a car from Fred. Fred sold a car to John. choose the type of antonymy.
a- binary antonymy
b- converses antonymy
c- gradable antonyms

105- “Ahmed is the parent of Ali ” choose the type of antonymy.
a- binary antonymy
b- converses antonymy
c- gradable antonyms

106- choose the type of antonymy found in the pair “Hot / cold ”?
a- binary antonymy
b- converses antonymy
c- gradable antonyms

107- choose the type of antonymy found in the pair “far / near ” ?
a- binary antonymy
b- converses antonymy
c- gradable antonyms

108- binary antonymy is also called …………………..
a- relational opposites
b- complementarity
c- Hyponymy

109- converses antonymy is also called …………………..
a- relational opposites
b- complementarity
c- Hyponymy

110- choose the type of antonymy found in the pair “very married/very unmarried”.
a- binary antonymy
b- gradable antonyms
c- it isn’t correct. NO antonymy

<><><><>  other Questions<><><><>
هذه مجموعة من الاسئلة للمحاضرات 1 - 10 
جهود من سبقونا جزاهم الله خيرا ً
رابط الصفحة :  http://www.e1500.com/vb/t53632.html
الاخ / FBI  - بتاريخ 03-06-2013

Semantics and Pragmatics
Instructor: Abdulrahman A. Alsayed
Prepared by: Abu Bakr

1st lecture


1. Semantics is the technical term used to refer to:
a. The reason behind meaning
b. The study of meaning.
c. The study of formation
d. The reason behind formation
2. The term "Semantics" was used to refer not to meaning only but to:
a. Its development
b. Its formation
c. Its category	
d. All true
3. “Historical semantics” is a term that is being used now:
a. When we look at the meaning only.
b. When we look at the development of meaning only.
c. When we look at the formation only.
d. When we look at both the meaning and the development.
4. The term "Semantic" earliest use was in:
a. 1794
b. 1894
c. 1925
d. All false
5. In 1900, a book called “Semantics: studies in the science of meaning” was published. The term Semantics was treated in this book: 
a. The way people at that time understood semantics.
b. The way we use it today.
c. The wrong way which had to be abandoned.
d. A and C
6. The way we use the term "Semantics" today is when it refers to:
a. The  “science” of meaning.
b. The  changes of meaning from a historical point of view.
c. Both true
d. All false
7. When the word “semantics” is used to refer to the manipulation  تلاعبof language, this happens in:
a. Formal language
b. Aggressive language
c. Popular language
d. Political language
8. Manipulation of language mostly occurs in:
a. Newspapers
b. History books
c. Encyclopedias
d. All false
9. The reason behind manipulation is to:
a. Make things more appealing to public.
b. Mislead the public
c. Inform the public.
d. All true
10. To understand what meaning is, one has to keep in mind whether we are talking about what speakers mean or:
a. What the listener might understand.
b. What words (or sentences)mean.
c. What the speaker wants to say.
d. A and C
11. In utterance Meaning (Speaker Meaning), a word meaning includes the secondary aspects of meaning, especially those related to:
a. Context. 
b. Weather
c. Emotions
d. All false
12. There is a distinction between what would seem to be the usual meaning of a word or a sentence, and the meaning it has in certain specific circumstances or contexts. This is, in fact, the difference between:
a. Semantics and Systematic
b. Semantics and Pragmatics.
c. Semantics and syntactics.
d. All false
13. The study of meaning that a sentence has in a particular context in which it is uttered.  This definition refers to:
a. Syntactic
b. Pragmatic
c. Semantic
d. B and C
14. When the word "mean" is used in the sense of “be equivalent to”, we are looking at the meaning from the:
a. Pragmatic point
b. Semantic point
c. Both
d. Neither

Semantics and Pragmatics
Instructor: Abdulrahman A. Alsayed
Prepared by: Abu Bakr

2nd lecture

1. When we talk about the meaning of words and other expression, we have to consider:
a. Sence
b. Reference
c. Since 
d. A and B
2. Sense and reference are two very ………….ways of talking about the meaning of words and other expressions.
a. Similar
b. Distinct
c. Confusing
d. A and B
3. Sense deals with the relationships:
a. inside the language.
b. Outside the language.
c. Both inside and outside.
d. All true
4. Reference deals with the relationship between the language and:
a. The environment
b. The world.
c. The dictionaries.
d. History
5. The sense of an expression is its place in a system of semantic relationships with other expressions in the language. An example of these relationships:
a. oppositeness of meaning (antonymy).
b. Sameness of meaning (synonymy).
c. Both true
d. Both false
6. The same word-form has more than one sense.
a. This happens all the time.
b. This happens in some cases.
c. This never happens in English.
d. All false
7. Talking about "sense" applies:
a. Only to words.
b. Only to sentences or phrases
c. To A and B
d. Neither A nor B
8. One sentence ……….have different senses.
a. Can
b. Can't
c. Must
d. All false
“I have an account at the bank.”
“We took the boat to the other bank of the river.”
9. In these examples, “bank” has a ………………..in each sentence.
a. Similar sense
b. Different sense
c. Confusing sense
d. A and B
“Rupert took off his jacket.”
“Rupert took his jacket off.”
10. In the above two examples, we say that both of these sentence have the ……….sense.
a. Confusing
b. Different
c. Same
d. All false
“The chicken is ready to eat.”
11. The above sentence is an example of:
a. A sentence has two different senses.
b. A sentence has two similar senses.
c. A sentence has only one sense.
d. All true
12. As we know that "Reference" deals with relationship between the language and the world, we got to know the term " referent" and the term:
a. "referring pronoun"
b. "referring expression"
c. "Referent expression"
d. Subject
13. The relation between a referring expression and a referent is what we call:
a. Reference. 
b. Utterance.
c. Occurrence.
d. All false
14. In the example:" This book", the word (This) is:
a. A referring expression
b. A referent
c. A phrase
d. All false
15. In the example:" This book", we can find that the same referring expression ………………..be used to refer to different referents.
a. Can't
b. can, in some cases,
c. Must
d. All false  
16. While a referent of an expression is often a thing or person in the world, the sense of an expression:
a. The same
b. May be a thing
c. Must be a thing
d. Is not a thing at all. 
17. Every meaningful expression has sense, ………….every meaningful expression has reference.
a. but not
b. and
c. but also
d. all false
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1. Paradigmatic relations are those into which a linguistic unit enters through being …………with other similar units. (vertical relation)
a. Combined
b. Substitutable
c. Identified
d. All false
2. Syntagmatic relations applies to relations holding between elements that are ………..with each other.
a. Combined
b. Substitutable
c. Identified
d. All false
3. Words in a language can be grouped and classified into different …………fields.
a. Paradigmatic
b. Semantic
c. Syntactic
d. B and C
4. A semantic field contains a group of words which are related in their…...
a. Pronunciation
b. Meaning
c. Construction
d. All false
5. A word can be part of …………………semantic field.
a. One
b. Main
c. More than one
d. All false
6. Semantic fields can be useful to compare a single language at:
a. Two different time periods.
b. A one specific time period.
c. Three different time periods.
d. All false
7. The items within a semantic field are:
a. Compatible
b. Incompatible
c. Unordered
d. B and C
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1. Certain words tend to appear together or “keep company”. This is called in semantics:
a. Combination
b. dual
c. collocation
d. all false
2. In collocation, a word's meaning:
a. Is always the same.
b. Differs based on its company.
c. Never changes.
d. A and C
3. There are some restriction on collocation. One of these restrictions is when they are based wholly on the meaning of the item. An example of this is:
a. Green, cow
b. Bite,  teeth
c. Bark, dog
d. B and C
4. There are some restriction on collocation. One of these restrictions is based on range when a word may be used with a number of other words that have some semantic features in common. An example of this is:
a. The rhododendron died
b. The rhododendron passed away
c. A and B
d. Neither
5. In the following sentences, decide the write collocation:
He spoke English with a ........ French accent.
a. Average
b. Widespread
c. Pronounced
d. Chronic
6. His new novel has met with ........ acclaim.
a. wholehearted 
b. Pronounced
c. Great 
d. Careless
7. We need to make sure that there is enough ........ accommodation to house all the delegates.
a. Wholehearted
b. Careless
c. Yellow
d. Luxury
	8. Your company has had a long and fruitful ______ with mine.

	
	
	


a. Assignment
b. Association
c. Assessment
d. Assets
	9. We had to choose from a motley ______ of candidates.

	
	
	


a. Assortment
b. Assistance
c. Association
d. assets
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1. Synonymy is the relationship between two lexical units (words) that have the ………….sense. 
a. Same
b. Different
c. Either
d. Neither
2. We can say about synonymy that:
a. Perfect synonymy is easy to find.
b. Perfect synonymy is hard to find.
c. There are no real synonyms.
d. B and C
3. There are at least five ways in which they can be seen to differ. One of these ways is when some sets of synonyms belong to different dialects of the language. An example of this is:
a. "Fall" and "Autumn" 
b. "Man" and "Chap"
c. "Liberty" and "Freedom"
d. Non of the above mentioned.
4. One of the ways some words differ in is when they are used in different styles. An example of this is:
a. "Liberty" and "Freedom"
b. "Fall" and "Autumn" 
c. "Man" and "Chap"
d. Non of the above mentioned. 
5. One of the ways some words differ in is when words may be said to differ only in their emotive or evaluative meanings. An example of this is:
a. "Liberty" and "Freedom"
b. “hide” and “conceal”
c. "Man" and "Chap"
d. A and B
6. One of the ways some words differ in is when some words are collocationally restricted. In other words, they occur only in conjunction with other words. An example of this is:
a. “addled” and “eggs”
b. "Man" and "Chap"
c. "Fall" and "Autumn" 
d. A and B
7. One of the ways some words differ in is when many words are close in meaning, or that their meanings overlap. There is a loose sense of synonymy between them. 
a. "Liberty" and "Freedom"
b. “mature” and "adult"
c. "govern" and "determine"
d. B and C
8. Antonymy is the relationship between two lexical units (words) that have the ………sense.
a. Same
b. exact 
c. opposite
d. all false
9. There are three different types of antonymy. One of these types is binary antonymy (complementarity).  This happens when words with opposite meaning comes in pairs. An example of this is:
a. "parent" and "child"
b. "dead" and "alive"
c. "hot" and "cold"
d. All false
10. One of the three different types of antonymy is Converses (relational opposites).This happens when a word describes a relationship between two things (or people). At the same time, another word describes the same relationship when the two things (or people) are mentioned in the opposite order.. An example of this is:
a. "parent" and "child"
b. "dead" and "alive"
c. "hot" and "cold"
d. All false
11. One of the three different types of antonymy is the Gradable antonyms. This happens when two words are at opposite ends of a continuous scale of values. An example of this is:
a. "parent" and "child"
b. "dead" and "alive"
c. "hot" and "cold"
d. All false
12. "permit" and "forbid" is an example of:
a. Gradable antonyms
b. Converses
c. binary antonymy (complementarity).  
d. All false
13. "deep" and "shallow" is an example of:
a. Gradable antonyms
b. Converses
c. binary antonymy (complementarity).  
d. All false
14. "joy" and "sorrow" is an an example of:
a. Gradable antonyms
b. Converses
c. binary antonymy (complementarity).  
d. All false
15. "above" and "below" is an example of:
a. Gradable antonyms
b. Converses
c. binary antonymy (complementarity).  
d. All false
16. "teacher" and "student" is an example of:
a. Gradable antonyms
b. Converses
c. binary antonymy (complementarity).  
d. All false
17. "far" and "near" is an example of:
a. Gradable antonyms
b. Converses
c. binary antonymy (complementarity).  
d. All false
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1. Hyponymy is a sense relation between words in which the meaning of one word is ………………the meaning of the other.
a. Different to
b. Similar to
c. included in
d. A and B
2. Hyponymy consists of an upper term which is called the ……………and the “lower” term is called the hyponym.
a. Superordinate
b. Ordinate
c. Coordinate
d. All false
3. If a superordinate term has more than one hyponym, we call them:
a. Co-superordinate
b. Co-hyponyms.
c. Co-ordiante
d. All false
4. A hyponym can itself be a superordinate of another term included in its meaning. For example, “tulip” is a hyponym of “flower” and “flower” is a hyponym of “plant”. In a case like this, we say that “flower” is ………………………..of “plant” and “tulip” is an immediate hyponym of “flower”.
a. An immediate hyponym
b. Not an immediate hyponym 
c. Both possible
d. All false
5. There …………………… a superordinate term for hyponyms in a language.
a. Is always
b. Is not always
c. Is rarely
d. All false
6. Synonymy can be seen as a special case of hyponymy. For example, synonyms like “mercury” and “quicksilver”, also illustrate the hyponymy relationship because the meaning of one of them is included in the other and vice versa. We call this special case of hyponymy:
a. Symmetrical hyponymy
b. Semantic hyponymy
c. Lexical hyponymy
d. All false
7. The rule of Symmetrical hyponymy is that if X is a hyponym of Y and Y is a hyponym of X, then X and Y are:
a. Antonyms
b. Hyponyms
c. Synonymous
d. Obvious
8. Polysemy is a sense relation in which the same word has several very …………………meanings (senses).
a. Closely related
b. Different
c. Distinctive
d. All false
9. Homonymy is a sense relation in which several words  have the …………shape, but different meanings that are far apart from each other.
a. Same
b. Different
c. Close
d. All false
10. It is important to note that there are cases where homonyms differ in:
a. Writing
b. Speech
c. Either
d. Neither
11. “Lead” (metal) and “lead” (dog's lead) have the same spelling, but pronounced differently. In this case we use:
a. Homography
b. Homophony
c. Both
d. Neither
12. “site” and “sight” are spelled differently but pronounced in the same way. In this case we use:
a. Homography
b. Homophony
c. Both
d. Neither
13. What is the semantic relationship between (or among) the following words? If it is antonymy, specify the type of antonymy. 
14. couch : sofa 
a. Polysemy
b. Synonymy
c. Antonymy
d. homonymy
15. vehicle : car, truck, SUV, bicycle
a. Polysemy
b. Synonymy
c. Antonymy
d. homonymy
16. Stop: go
a. Polysemy
b. Synonymy
c. Antonymy - Gradable
d. Antonymy –Relational
17. Strong: weak
a. Polysemy
b. Synonymy
c. Antonymy - Gradable
d. Antonymy –Relational
18. Addition:edition
a. Homophones
b. Homographs
c. Synonyms
d. Antonyms
19. Flower: flour
a. Homographs
b. Synonyms
c. Antonyms
d. Homophones
20. He tears his books: The sad person tears easily.
a. Homographs
b. Synonyms
c. Antonyms
d. Homophones
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1. In componential analysis, the total meaning of a word is being analyzed into ………………………..of meaning.
a. Only one component 
b. A number of distinct components
c. Few similar components
d. All false
2. "There is an appropriate word in the language to label the component". This statement is:
a. Completely true
b. Completely wrong
c. True in many cases
d. Wrong in many cases
3. The words:“come/go” and “bring/take” are examples show that …………components are related to simple physical features.
a. No
b. not all
c. all
d. B and C
4. A particular characteristic of componential analysis is that it attempts as far as possible to treat components in terms of ………………opposites.
a. Binary
b. Triple
c. Quaternary
d. Multiple
5. There is an advantage in such binary terms in that we can choose ………only as the label and distinguish this in terms of plusses and minuses.
a. Two 
b. Three
c. Four
d. One
6. Using (+) and (-) and (± ) only where there is a clear…….
a. Distinction 
b. Similarity
c. Both
d. Neither
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1. Views differ on the issue of universal semantic features…..
a. In one extreme
b. Between two extremes.
c. Among three extremes
d. Among seven extremes.
2. At one extreme, there is the Sapir-Whorf hypothesis, which…..
a. Suggests that each language may “create” its own world and so its own semantics.
b. Argued that components such as (male) and (female) are found in all languages and that there are many others too, e.g. the basic colors.
c. Both true
d. Neither
3. The universalist view suggests that there is a universal inventory of semantic features (components). One of the three claims that try to explain the relation between this inventory and the actual features found in individual languages is the strongest claim says that:
a. All languages make use of the whole inventory and so have the same features. 
b. Each language uses only some of the features in the total inventory.
c. Only some features are universal, while the rest are characteristic of individual languages.
d. All false.
4. One of the three claims that try to explain the relation between this inventory and the actual features found in individual languages is the weakest claim says that:
a. Only some features are universal, while the rest are characteristic of individual languages.
b. All languages make use of the whole inventory and so have the same features. 
c. Each language uses only some of the features in the total inventory.
d. All false.
5. To explain the phenomenon of the weakest claim, we have to consider some factors. One of these factors is the physical reality. An example of this is:
a. Distinguishing colors.
b. Distinguishing animals.
c. Both
d. Neither
6. To explain the phenomenon of the weakest claim, we have to consider some factors. One of these factors is the psychological reality. An example of this is:
a. Distinguishing colors.
b. Distinguishing animals.
c. Both
d. Neither
7. In distinguishing kinship terminology صلة القرابة, we have to consider:
a. Only physical reality.
b. Only psychological reality.
c. Cultural reality
d. A and B
8. In the case of color terminology, too, there may be three factors at work. When we talk about the green of living plants, the red of blood or the blue of the sky, we use:
a. The psychological features.
b. The physical features.
c. The cultural consideration.
d. All true
9. In addition to physical, psychological and cultural realities we face in explaining the phenomenon of the universalist view, we face:
a. The contact between societies.
b. The common language origin.
c. Both
d. Neither
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Classify the following pairs by choosing the best classification:
1. easy – difficult 			
a. binary antonyms
b. converses
c. gradable antonyms
2. good – bad
a. binary antonyms
b. converses
c. gradable antonyms
3. pass – fail
a. binary antonyms
b. converses
c. gradable antonyms
4. husband – wife
a. binary antonyms
b. converses
c. gradable antonyms		
5. parent – offspring
a. binary antonyms
b. converses
c. gradable antonyms		
6. legal – illegal
a. binary antonyms
b. converses
c. gradable antonyms
7. present - absent
a. binary antonyms
b. converses
c. gradable antonyms
8. deep – shallow
a. binary antonyms
b. converses
c. gradable antonyms
9. above - below
a. binary antonyms
b. converses
c. gradable antonyms
10. clean – dirty
a. binary antonyms
b. converses
c. gradable antonyms
11. husband – wife
a. binary antonyms
b. converses
c. gradable antonyms
12. early – late
a. binary antonyms
b. converses
c. gradable antonyms

13. The word (BARK) when used for a dog vs. for a tree is hyponym because:
a. They are  not obviously related to each other in any way.
b. They are obviously related to each other in any way.
c. They give the sense of similar meaning.
d. All false
		
14. The word (FORK) when used for a road vs. for an instrument for eating is polysemy because:
a. They are  not obviously related to each other in any way.
b. They are obviously related to each other in any way.
c. They give the sense of similar meaning.
d. All false
15. The word (TAIL) when used for a coat vs. for an animal is polysemy because:
a. They are  not obviously related to each other in any way.
b. They are obviously related to each other in any way.
c. They give the sense of similar meaning.
d. All false
16. The word (STEER) when used to guide vs. for a young bull is hyponym because:
a. They are  not obviously related to each other in any way.
b. They are obviously related to each other in any way.
c. They give the sense of similar meaning.
d. All false
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1. An utterance is any stretch of…………….., by one person, before and after which there is silence on the part of that person.
a. Writing
b. Dialog
c. Talk
d. All false

2. An utterance is the use of a piece of language by a particular speaker on a particular occasion. This piece of language could be:
a. A word
b. A sentence
c. A phrase
d. All possible

3. It is an abstract string of words put together by the grammatical rules of a language. This definition refers to:
a. A sentence
b. A phrase
c. An utterance
d. All true

4. A sentence  exists abstractly in the mind of language speakers …………..they say it or write it. 
a. At the time
b. Before
c. After
d. Shortly after

5. When there is a situation where only one sentence involved, there is:
a. Only one utterance
b. No utterance at all
c. Could be more than one utterance
d. All false

6. One of the types of utterances is the constative utterance with which the speaker describes something which………
a. Must be true
b. Must be false
c. May be true or false.
d. May be only false

7. One of the types of utterances is the performative utterance. In this type of utterances, the uttering of the sentence is:
a. Part of an action.
b. Judged either false or true
c. Both
d. Neither

8. The utterance in “I name this ship Discovery” is:
a. Constative
b. Performative
c. Alternative
d. All false

9. The utterance in “I’m trying to get this box open with a screwdriver.” is:
a. Constative
b. Performative
c. Alternative
d. All false

10. Generally, we can consider the utterance of a sentence  as (performative) when the verb is used:
a. In a positive simple present tense sentence.
b. With a 1st person singular subject
c. Both
d. Neither

11. There are a number of performative verbs including: 
a. Promise
b. Apologize
c. Thank
d. All true

12. Performatives can be either explicit or implicit. An explicit performative ……………..a performative verb naming the act. E.g. I order you to go.
a. Contains
b. Does not contain
c. Both possible
d. Neither

13. Performatives can be either explicit or implicit. An implicit performative …………..contain a performative verb naming the act.  E.g. Go.
a. Contains
b. Does not contain
c. Both possible
d. Neither

14. If we look at the example: “There is a car coming.”, we can say it is an implicit performative if it is used:
a. To describe something.
b. To make a warning
c. Both possible
d. Neither

15. If we look at the example: “There is a car coming.”, we can say it is an constative if it is used:
a. To describe something.
b. To make a warning
c. Both possible
d. neither

16. If we look at the example: “I shall be there.”, we can say it is an implicit performative if it is used:
a. To describe something.
b. To make a warning
c. To make a promise
d. To threaten 

17. The difference between performatives and constatives is that a performative utterance performs some act and simultaneously describes that act.  On the other hand, a constative utterance …………perform the act.
a. Sometimes
b. All the time
c. Does not 
d. All false
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. How do the synonyms “gentiemanichap” differ?
a. Each belongs to different dialects.
c. Each has different emotive or evaluative meanings.
d. They are both collocationally restricted to different environments.

2. Choose the type of antonymy found in the pair ‘married/unmarried”
- converses

. relational opposites

d. gradable antonymy

. Vihich of the following is an example of homonymy?

a. earth (our planet vs. soil)

b. bank (financial institution vs. the side of ariver) |
. ail(of  coat vs. of an animal)

d.fork (in  road vs. instrument for eating)
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